
PROJECT 569-C

KSA-AVANTE2200 4Q20000141 SELLER:SELLER:SELLER:SELLER:

5 NCAGE:NCAGE:NCAGE:NCAGE: 9161B DATE:DATE:DATE:DATE: 2020-01-31

MTBF :MTBF :MTBF :MTBF : 85000H

REFERENCE REFERENCE REFERENCE REFERENCE 

NUMBERNUMBERNUMBERNUMBER

(Part Number)

NAME OF MANUFACTURERNAME OF MANUFACTURERNAME OF MANUFACTURERNAME OF MANUFACTURER

N
C

A
G

E
N

C
A

G
E

N
C

A
G

E
N

C
A

G
E

M
T

B
F

M
T

B
F

M
T

B
F

M
T

B
F

REFERENCE REFERENCE REFERENCE REFERENCE 

NUMBERNUMBERNUMBERNUMBER

EXPLODED VIEW OR EXPLODED VIEW OR EXPLODED VIEW OR EXPLODED VIEW OR 

CROSS SECTION CROSS SECTION CROSS SECTION CROSS SECTION 

DRAWING NR.DRAWING NR.DRAWING NR.DRAWING NR.

IT
E

M
 N

R
.

IT
E

M
 N

R
.

IT
E

M
 N

R
.

IT
E

M
 N

R
.

U
N

IT
 P

R
IC

E
U

N
IT

 P
R

IC
E

U
N

IT
 P

R
IC

E
U

N
IT

 P
R

IC
E

(E
u

ro
s
)

O
N

 B
O

A
R

D
O

N
 B

O
A

R
D

O
N

 B
O

A
R

D
O

N
 B

O
A

R
D

(9
0

 d
a

y
s
)

O
N

 S
H

O
R

E
 

O
N

 S
H

O
R

E
 

O
N

 S
H

O
R

E
 

O
N

 S
H

O
R

E
 

(2
 y

e
a

rs
)

O
N

 S
H

O
R

E
 

O
N

 S
H

O
R

E
 

O
N

 S
H

O
R

E
 

O
N

 S
H

O
R

E
 

(3
 y

e
a

rs
)

IN
C

O
IN

C
O

IN
C

O
IN

C
O

In
s
ta

lla
ti
o

n
 

a
n

d
 C

h
e

c
k
in

g
 O

u
t

N.S.N.N.S.N.N.S.N.N.S.N.

(Nato Stock Number)
LOELOELOELOE RCRCRCRC

DC (In DC (In DC (In DC (In 

Weeks)Weeks)Weeks)Weeks)

SLC (In SLC (In SLC (In SLC (In 

Weeks)Weeks)Weeks)Weeks)
MQOMQOMQOMQO OCOCOCOC

W
E

IG
H

T
W

E
IG

H
T

W
E

IG
H

T
W

E
IG

H
T

(k
g

) DIMENSIONSDIMENSIONSDIMENSIONSDIMENSIONS
(Height x Width x Depth)

(mm)

1

Centrifugal Fans (Note 1) AY N/A 5
CMR-625-2T

(Orientation LG 270)
SODECA 8479B 85.000

CMR-625-2T

(Orientation LG 270)
P-MO5462-023 N/A 1869,52 0 0 0 0 N/A G 16 N/A 1 45,00 Ø341x234

2

Motor EA S 5 WEG-W-21-F80
WEG ELECTRIC MOTORS U 

K LTD
KCQA5 85000 WEG-W-21-F80 P-MO5462-023 1 273,90 0 5 5 0 7 G 12 240 1 9,60 276x159x215

3

Motor bearing D.E. EA S 5 6204 ZZ SKF USA INC. 52676 30000 6204 ZZ P-MO5462-023 N/A 20,00 0 5 5 0 3110-00-144-8603 6 N 4 240 1 0,11 Di=20; De=47; T=14

4

Motor bearing N.D.E. EA S 5 6203 ZZ SKF USA INC. 52676 30000 6203 ZZ P-MO5462-023 N/A 15,04 0 5 5 0 3110-00-144-8603 6 N 4 240 1 0,06 Di=17; De=40; T=12

ORIGINAL EQUIPMENT MANUFACTURER DATAORIGINAL EQUIPMENT MANUFACTURER DATAORIGINAL EQUIPMENT MANUFACTURER DATAORIGINAL EQUIPMENT MANUFACTURER DATA SELLER DATASELLER DATASELLER DATASELLER DATA SPARE PARTS SPARE PARTS SPARE PARTS SPARE PARTS 

REMARKSREMARKSREMARKSREMARKS

Note: Prices for ILS purposes only. Should these items be ordered, they will have to be quoted by Frizonia's Sales Dptm.

N.S.N.N.S.N.N.S.N.N.S.N.
(Nato Stock Number)

Reliability Data for Main EquipmentReliability Data for Main EquipmentReliability Data for Main EquipmentReliability Data for Main Equipment MTTR :MTTR :MTTR :MTTR : 10H

IT
E

M
 N

R
.

IT
E

M
 N

R
.

IT
E

M
 N

R
.

IT
E

M
 N

R
.

ITEM NAMEITEM NAMEITEM NAMEITEM NAME

U
N

IT
U

N
IT

U
N

IT
U

N
IT

T
Y

P
E

T
Y

P
E

T
Y

P
E

T
Y

P
E

(S
p

a
re

/T
o

o
l)

N
U

M
B

E
R

 O
F

 I
T

E
M

S
 

N
U

M
B

E
R

 O
F

 I
T

E
M

S
 

N
U

M
B

E
R

 O
F

 I
T

E
M

S
 

N
U

M
B

E
R

 O
F

 I
T

E
M

S
 

F
IT

T
E

D
F

IT
T

E
D

F
IT

T
E

D
F

IT
T

E
D

LCRSLCRSLCRSLCRS
(LLLLIST OF CCCCODED RRRRECOMMENDED SSSSPARES)

SHIP:SHIP:SHIP:SHIP: EQUIPMENT P.O.:EQUIPMENT P.O.:EQUIPMENT P.O.:EQUIPMENT P.O.: FRIZONIA REFRIGERACION CLIMATIZACION SL MAIN EQUIPMENT DESCRIPTION:MAIN EQUIPMENT DESCRIPTION:MAIN EQUIPMENT DESCRIPTION:MAIN EQUIPMENT DESCRIPTION: Centrifugal Fan

CONST. NR.CONST. NR.CONST. NR.CONST. NR. NR. INSTALLED MAIN EQUIPMENTS:NR. INSTALLED MAIN EQUIPMENTS:NR. INSTALLED MAIN EQUIPMENTS:NR. INSTALLED MAIN EQUIPMENTS: PART NUMBER:PART NUMBER:PART NUMBER:PART NUMBER: CMR-625-2T (Orientation LG 270)

D-MO5462-227 LCRS - Centrifugal Fans_ RevB

CMR-625-2T (LG 270)

1/1

15/11/2020


